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QUESTION 1

In a Transformer expression for a stage variable, there is a nullable input column. Assume the legacy NULL processing
option is turned off. What happens when a row is processed that contains NULL in that input column? 

A. The job aborts. 

B. The row is rejected. 

C. NULL is written to the stage variable. 

D. The value written to the stage variable is undetermined. 

Correct Answer: C 

 

QUESTION 2

When using Runtime Column Propagation, which two stages require a schema file? (Choose two.) 

A. Peek stage 

B. Pivot stage 

C. Column Import stage 

D. DB2 Connector stage 

E. Sequential File stage 

Correct Answer: CE 

 

 

QUESTION 3

Which statement is true about table definitions created in DataStage Designer? 

A. By default, table definitions created in DataStage Designer are visible to other Information Server products. 

B. Table definitions created in DataStage Designer are local to DataStage and cannot be shared with other Information
Server products. 

C. When a table definition is created in one DataStage project, it is automatically available in other DataStage projects,
but not outside of DataStage. 

D. Table definitions created in DataStage Designer are not by default available to other Information Server products, but
they can be shared with other Information Server products. 

Correct Answer: D 
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QUESTION 4

What stage allows for more than one reject link? 

A. Join stage 

B. Merge stage 

C. Lookup stage 

D. Funnel stage 

Correct Answer: B 

 

 

QUESTION 5

A job using a three-node configuration file writes to a target Sequential File stage. The target Sequential File stage has
been set to write to two different sequential files. How many instances of the Sequential File stage will run? 

A. One instance. 

B. Two instances. 

C. Three instances. 

D. Four instances. 

Correct Answer: B 
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